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((9-1) X 1.25+0.835 X 2) X (1.68 X 3+0.84+0.05 X 3) = 70370
it = 7037 m2 70.4




fERtT

%5 B FRIE (T By AL
Al =4 m3 e
(m) W @ Ty B E 8
F£1J0vs
%23
Javy
BELED
NO. 4 L 3.300 2.6
NO. 4 3.300 2.6 2.60 8.6 $4
Javy
NO. 4 R 7.300 7.300 2.6 2.60 19.0
g (h204 1) 58%
27.6 X58% = 16.0
o =
= 8 10.600 21.6 | | 16.0




HEYHET &K=

SEEHE 2 & i % NO.
B - R B = = B =
FELT
= 1.0
BRIE (T OvoEE)
T 16.0 m3 16.0
BEYmEELT
7oy = 1.0
av9)—REUEL
EHIEEY. BiIET 21.2 m3 21.2
R IE k- I
a9 —ka% 21.20 m3 21.2
EZKRJOvoiEE
tIEE 27.0 & 27
EZKRJOvoiEE
1.5tF2 5.0 & 5




REVIERLT

a9 —REIEL (5. )

" B
Al =4 " m3 e
(m) W @ Ty B E
F£1J0vs
%23
Javy
BELED
NO. 4 L 3.300 2.0
NO. 4 3.300 2.0 2.00 6.6 $4
Javy
NO. 4 R 7.300 7.300 2.0 2.00 14.6
o =
= 8 10.600 21.2




RRT KHE

SEEHE 2 & i % NO.
B - R B = = B =
RELERT
= 1.0
ITERERELT HE-BE
507.2 m3 507.2
REE LB -R#HYIT
= 1.0
THEERELDS BE-HRE-BE
289 £ 289
HEKAnLEE T
= 1.0
TERKGBRYT HE-BE
¢ 200 5 = 5
HALET
= 1.0
FABLETIIVR HE-BE
H=2.0miEE 90.0 m 90.0




REGERR T

o s - I$Fﬁiﬁ§§i -
(m) B @ FE 1 o E
IEAER
NO.4 L 13.600 3.9
NO.4 L 8000 5.6 3.9 3.90 21.8
NO. 4 8.000 2.2 3.05 24.4
NO.4 R 20.000| 20000 04 1.30 26.0
NO.4 R _ 43700 23700 04 0.40 9.5
R EEIRER
NO. 4+  11.000 0.0
NO.5 +  8300| 17.300 0.0 0.00 0.0
NO. 6 + _ 6500| 24000 218| 1090 | 2616
+ 13500  7.000 218|  21.80| 1526
TEREHEURA)
NO.5 + 5800 0.9
+ 25000  25.000 0.0 0.45 11.3
G 130.600 507.2
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SiHEE # = i OE NO.
1.0 &Y
2R Hi = = B {1 o=
MiHEERE DS TEMER 1B
(35.78+8.30)/1.10 40.0
TERER 2
(17.05+11.60+14.95)/1.10 X 3 119.0
R ER IR B
105 105.0
TERERGRA)
27.68/1.10 25.0
it 289.0 £ 289




BEKAnEE T

SHEE 5 i & No.
1.0 &Y
%W RE Hi = = B =
TERKGBRT AlEETEE LY
A1%200mm 5.0 = 5
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%W RE Hi = = B =
EAERIETTIUR REEEE R KLY
H=2.0miEE 90.00 m 90.0




RUEME T £EHE

SEEHE H 2 £ FH % NO.

B - R B = = B =

fEfET
= 1.0

BABEAA
¢ 400mmEl_E = 173 & 173
avol)—k
0 28=24N/mm?2 = 12.8 m3 12.8
itk
E|EHEEY = 1.0 m2 1.0
BEmEELT
B = 1.0
av9)—REUEL
EHIEEYM. ATET = 8.4 m3 8.4
avo)—kEoY
BEE3cmblF = 875 m2 87.5
R IE k- IR
a9 —ka% 8.4+87.5x 0.03 =  11.03 m3 11.0




FAEHETL (35 /AHE)

SEEE o E F E E NO.
EERNEED)
4 R B =1 = B f3f B =
HEHE BARA50ME LY
AET
10.00 10.0 m2
a9 )—hEIHL
@ 10~30 100.0 100.0 7l
=L
SD345 D13 L=250mm [100.0 100.0 N
0.995kg/m|0.995kg/m*0.25m*1004=24.875kg—0.0248ton ton 0.025
HEHE BRAELY
AET
10.00/50 0.2 m2
a9 —hEIFL
@ 10~30 100.0/50 2.0 7l
=L
SD345 D13 L=250mm [100.0/50 2.0 N
BHABEAH AEFHROEE KLY
@ 400mmbl_E 173.0 & 173
avyl)—k
0 28=24N/mm?2 (2.06 X 0.25 X 35.0)-(0.03 X 173) 12.84 m3 12.8
B
EIEEY 2.00 X 0.25 X 2 1.00 m2 1.0
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" B OB
p: /- m3 wE
(m) W @ Ty B E
15RE
25fE
NO. 4 R 40.100 4.2 3EmE
NO. 4 R 42100 2.000 4.2 4.20 8.4
o =
H A 2.000 8.4




BEYERIRLT (AE)

BEtEE B =2 F OB £ NO.
1.0 YY)

& - R E S« B | #B
AVPU—MEDY  [ETAVIFHER X EOYRS
BEE3cmll T

35AE

(0.25+2.00+0.25) x 35.0 = 8750

it = 8750 m2 875




